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Question 8. -
a If (ot 1) is a factor of 2 — X —ax-2 3]

i, . Find the value ofa
ii. With the value of a factorise the above expression completely.

b. Find the amount for the following intra-state transaction. [4]

MRP (in ) for
each item
No of items

c. In the figure given alongside, O is e “l

the centre of the circle and
[ DAE = 70° find giving suitable

reasons, the measure of :
2

) i) BCD 7
i) BOD 7 0
iy | OBD & \\-///‘ =
Question 9 :
a. Find the G.P. whose 4" term is 24 & 7" torm is 192 and also find the sum of first 10
terms. [3]

S
£

13l

b. Inthe figure drawn alongside,
xy lQr.
If area of APXY = 25 cn’,

Area of trapezium XQRY = 24 cm? and
QR = 14 cm, find the length of XY. Q/

The point A ( 3,4) is reflected to Alin the X — axis and O' is the image of O (the origin)
when reflected in the line AA! Using graph paper, give : (4)

i_ The coordinates of A'and O".

i, The length of segments AA' and 00"

i The perimeter of Quadrilateral AOA'O'

i The geometrical name of the figure AOA'O".

Fekdkkkkk R F IR

A




image1.jpeg
GREENLAWNS SCHOOL, WORLI
PRELIMINARY EXAMINATION 2020
MATHEMATICS
STD: X Marks: 80
Date: 07/01/2020 Time: 2% hrs.
Note : Attempt all questions from SECTION-A and ANY FOUR questions from SECTION-B. All working including
rough work must be clearly shown and must be done on the same sheet as the rest of the answers. Omissions of
essential working will result in the loss of marks. The intended marks for questions are given in the brackets [ ]
Mathematical tables are provided.

SECTION-A (40 marks)
(Answer All the Question from this Section)

Question 1

(@)  Sachin has a recurring deposit account in a bank. He deposits ¥ 2500 per month for 2
years. If he gets % 66,250/- at the time of maturity, find : . [3]

i The interest paid by the bank.
ii. The rate of interest

b 3 1 0 1 0 [3]
IfA= and I= .
-1 7 : 0 1

Then determine £sothat A2=8A+ &1

(c) Use ruler and compasses only for the following question. All construction lines and arcs
must be clearly shown. [4]

i Construct a APQR inwhich QR =6.5cm, | PQR=60°, PQ =5 cm .

ii. Construct the locus of points at a distance of 3.5 cm from P.

iii. Construct the locus of points equidistant from PR and QR.

iv. Mark two points X and Y which are at a distance of 3.5 cm from A and also
equidistant from PR and QR. Measure XY.

Question 2

a. The 9" term of an A.P. is equal to six times its 2™ term. If its 5™ term is 22,
find the A.P. [3]

b. Draw a regular hexagon of side 4cm and draw.its circum circle. Record the radius of
the circle. a8 [3]

c. Abox contains 19 balls bearing numbers, 1,2,3,...............,19,A ball is drawn at
random from the box. Find the probability that the number on the ball is [4]

i. aprime number

ii, an odd number

i divisible by 3 or 5

iv neither divisible by 5 nor by 10.
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Question 3.

a.

iii.

Sunny invests ¥ 36,000/~ in buying  100/- shares at % 20/- premium. The dividend is
15% per annum. Find : )|
The number of shares he buys,
His yearly dividend.
The percentage return on his investment.

Solve the following inequation and represent the solution set on the number line. [3]

4x-19<§53~23153+x, x €1l

c. The slope of a Iinejoining P (6,k) and Q (1 -3k, 3) is % find : [4]
i k
ii. Midpoint of PQ using the value of k found in (i).
Question 4

ind the co-ordinates of point P which divides the join of A (8, -5) and B (5, 3) in the
ratio2:5 [3]

b. Theline 4x — 3y + 12 = 0 meets X — axis at A. Write down the co-ordinates of A.
Determine the equation of the line passing through A and perpendicular to
4x -3y +12=0. 18]

c. For what value of ‘k’ will the following quadratic equation (k + 1) x%-4kx + 9 =0 have
real and equal roots ? Solve the equation. [4]

SECTION-A (40 marks)-
Attempt ANY FOUR question from this section.
Question 5

a. Solve the given equation. [3]
%%+ 3% 341
3x% 1 91

b.

A cone is 8.4 cm high and the radius of its base is 2.1cm. It |s melted and recast into a
sphere. Find the radius of the sphere. [3]
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¢. Calculate the arithmetic mean from the following table. [4]

| Marks : Less than ; 10 20 30 40 50
No of students 2 7 15 18 20
Question 6
a. From the top of a building, 60m high the angles of depression of the top and bottom
of a vertical lamp post are observed to be 30° and 60° respectively. Find : [4]

i The horizontal distance between the building and the lamp post
ii. The height of the lamp post.

b. The weight of 50 workers is given below : [6]

weightinkg | 50 60 | 60-70 | 70-80 | 80-90 | 90-100 | 100-110 | 110-120

No of workers A 7 11 14 6 5 3

5

4

Draw an ogive of the given distribution using a graph sheet. Take 2cm = 10 kg on one
axis and 2cm = 5 workers along the other axis. Use a graph to estimate the following :

i The median
ii. The upper and lower quartiles
iii. If weighing 95 kg and above is considered overweight, find the number of

workers who are overweight .

Question 7.

a. In the figure given alongside, AB is a :
diameter of the circle with centre O.
Tangent XY touches the circle at C,

| BAC = 40°. Find l ACX.

b. How many terms of the geometric series 1+ 4 + 16 + 64 +
will make the sum 5461 ? : [3]

c. Given ABC is s triangle and PQ is a [4]
straight line meeting AB at P and AC
atQ .IF AP=1cm, PB = 3cm,

AQ =1.5cm QC =4.5 cm. Prove that
1
Areaof AAPQ = 15 (Area of AABC) «





